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4. The slopes of two lines are —2 and -1/2. Are the two lines parallel, perpendicular, f:@

5.. Complete the chart:

3 _ | y- mtr:rcepr

Equation
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. a) The slope parallel to the x-axis is '{:}1 ,
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6. a) The slope parallel to the x-axis is o/f -
b) The slope perpendicular to the x-axis is f/g
c) The slope of a vertical line is Yo
d) The slope of a horizontal line is 5/!
e) The perpendicular slope to 5 is =l/5

Determine the s/ope and the y-intercept for the graph of this equation(
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a) The slope parallel to the x-axis is [

b} The slope perpendicular to the x-axis is _ yn

¢} The slope of a vertical line is /ﬂ

d} The slope of a horizontal line is 'Dr‘(l

g} The perpendicular slope to 5 is ::1{,5

ele =g

Determine the sfope and the y-intercept for the graph of this qutmion-f}f =0 {y=mx+b)
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